MAO0301 Exercise 1 Dystein Tveit

MAO0301 Exercise 1

Dystein Tveit

NTNU

P14 |P=4
T|T T
T | F F
F T T
F|F T

Looking at the truthtable, we can see that p = ¢ only is false when p is true and ¢ is false.

a)

pANgq=TANF

b)
-pVq=-TVF

gq=p=F=T
=—-FVT
=TvVvT

d)

—F = =T
T=F
E—lT\/F
=FVF

—|q:>—|p
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b)

If triangle ABC is equilateral then triangle ABC is isosceles.

If triangle ABC is not isosceles then triangle ABC is not equilateral.
Triangle ABC is equilateral if and only if triangle ABC is equiangular.
Triangle ABC is isosceles and triangle ABC is not equilateral.

If triangle ABC is equiangular then triangle ABC is isosceles.

plal-p|~q|pAN=g|=(pA-g) | =(pA—q)=p
T|T|F | F F T F
T|F|F|T T F T
F|T|T]|F F T T
F|F|T|T F T T
plalr|g=r|p=>(g=r)
T(T|T]| T T
TI|T|F| F F
TI|F|T| T T
TI|F|F| T T
FI|T|T| T T
F|T|F| F T
FI|F|T| T T
F|F|F| T T
plal-p|-q|-pV-oq|ge (-pV-g)
T T|F | F F F
TIF|F|T T F
F|T|T]|F T ik
FI|F|T|T T F
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< (—p V —q) is not a tautology.

(p=q)
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=(p=r)
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(¢=r)]=

HHEEAa"a "4

HHET"H=DTYHY|>

(p = r) is a tautology.

I start by simplifying the expression, inserting g as T’

(g=[(=pVr)A

~s) A s = (orAg)] =

(T =[(=pVr)A
(=T VI=pVr)A
=(FVI=pVr)A
[(=pV7r) A

Heaaaaaad

—s]) A [ms = (—r AT)]
=s]) A [ms = ]

=s]) A [ns = ]

=8| A\ [ms = ]

6]

The statement is only true when p, r and s are false.

plr|s|—p|-r|=as|pVr|(-pVr)A-s|-s=—r|[(-pVr)A-s|Al-s = -]
T WT|T|F |F|F T F T F
T |T|F|F|F|T T T F F
T |F|T|F | T]|F F F T F
T |F|F|F | T | T F F T F
F|T|T|T]|F|F T F T F
F|T|F|T]|F|T T T F F
F|F|T|T|T]|F T F T F
F|IF/F, T ,|T|T T T T T
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=N P=1)

p=q|p=>TrT

qNAT | p=(qAT)

r

T

b)

- = (p=q)

r|p=4q

qgVvVr|p=(qVr)

r

q
T

(=(pAgq)Vr)

=

“((pAq) =)

“(pAg) A

(pAg) A
pANgN-—T

b)

=(=p V(=g AT))

=(p=(mgAT))

pA(m—qV-r)
pA(gV-r)
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a | BlylavB|BVy|(aVB)Vy | aV(BVy)
T(T|T]| T T T T
TI|T|F| T T T T
TIF|T| T T T T
TI|F|F| T F ik ik
F|T|T| T T ik T
FI|IT|F| T T T T
FI|F|T| F T T T
F|F|F| F F F F
9
a)

plqg|pVag|lp=({(Va)

T|T| T T

TI|F| T T

F|T| T T

F|F| F T

p= (pVq) is a tautology

b)  Because =(p = (pV q)) is the negation of p = (pV q), which we have already evaluated
to be a tautology, this has to be a contradiction and thus unsatisfiable.

c)
plaqg|lp=q|p=>{m=q
T|T| T T
TI|F| F F
F|T| T T
F|F| T T

p = (p = q) is satisfiable.
a) —p=(qger)
b) r=-p
c) —rApAg
d) p=(rig)

e) —qgAT
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